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9. Durability of construction material is
(1) Resistance to crushing (2) Resistance to weathering
(3) .Shear strength (4) Compressive strength
- 10. Seasoning of timber means
(1) removing the moisture content (2) reducing weight of timber
(3) Both (1) and (2) {4) None of the above
11. is the quantity of fine aggregate required per 56 kg of cement of
M 150 — 1 : 2 : 4 grade of concrete.
(1) 0340kg . (2) 0-053 kg
(3) 0035 kg (4) 0-070 kg
12. Artificial method of seasoning timber is
(1) Dboiling (2) chemical seasoning
(3)  water seasoning , (4) All of the above
13. Laterite is used in _ |
(1) carving and ornamental works (2) - fire resistance works
(3) electrical switchboards (4) heavy engineering works
14. In medium carbon steel, carbon content varies from
(1) 0-25% to 0-60% - (2) 0-10% to 0-25%
(3) 0-60% to 0-75% (4) 075% to 1-00%
15. Light weight concrete is also known as
(1) low concrete (2) lean concrete
(3) transparént concrete (4) cellular concrete
The process of tempering is applied to steel in hardening process for improving

(1) ducti_]ity (2) strength
(3) roughness | (4) All of the above
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23. Which part of the beam is subjected to pure bending in the following figure ?
20kN  80kN

e
C :
2m }'ﬁlmJ

(4) No part of beam is subjected to pure bending

g
ﬁvwg_'

e
(1) AB
(2) BC
(3) CD .

24. Progressive increase in the inelastic deformation of concrete under sustained stress
component is known as : :
(1). Shrinkage of concrete (2) Creep of concrete

(3) Deformation of concrete (4) Yielding of concrete

25. Calculate the maximum stress acting on the cross-section of following element :

200 mm=+ i
P, ¥ %
P1<-J —>1'9 3*—J ——>P4 /1//% 100 mm
| —1m—4—12 m—4—1m ey Cross-section

Take P, = 45 kN, P, = 445 kN and P, = 130 kN.
(1) 20 N/mm? (2) 22-5 N/mm? (3) . 2875 N/mm? (4) 6-5 N/mm>

26. What are the stresses developed at the top and bottom of a rectangular beam subjected
to prestressing force of 50 kN at a distance of 50 mm from bottom. The ¢/s of beam is
100 x 100 mm. ;
(1) (5,5) (2) (20, 10) (3) (5,10) (4) (10, 5)

27. At room temperature the rods are shown in figure. When temperature is raised, what

is the 'natur% of stresses developed in each rod, if E,; < E_ and a; > a  ?

< P ‘
Z \
A7 :C Supports are unyielding
A R
A I~
03 m—4——1-25 m—
Aluminium Steel

dia = 20 mm dia = 10 mm
(1) Compressive in aluminium and steel
(2) Tensile in aluminium and steel
(3) Compressive in aluminium and fensile in steel
(4) ‘Tensile in aluminium and compressive in steel
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A simply supported beam subjected to uniformly varying load of intensity W at left
end (A) reduces to zero at right end (B). Then slope at end B is

5 WL & 9WL3 (3)' 3 WIS oA 7WL3

1 -
i 360 EI 360 EI 360 EI. 360 E1

32.

If a moment is applied to the hinged end of a prismatic pfopped cantilever, then the
moment at the fixed end will be :

1) M (2)  M/2 (38) M/3 (4) M/4-

33.

A single concentrated load W rolling over the beam of span L will cause the
maximum bending moment and shear force on a section X at a distance x from left
support. When the load is on the section, its maximum bending moment will be

(1) wxL/(L-x) - (2) wx (L-x)/L
(3) wxi(L— x)/L2 ‘ (4) WL(L - x)/L

34.

Maximum number of unknown forces that can be determined in concurrent force
system under equilibrium is

(1) zero 5 R _ 83) 3 4) 6

35.

A beam fixed at one end and simply supported at the other end. is carrying uniformly
distributed load of intensity ‘W’ throughout the span L. Then reaction at simply
supported end is

B 3 8 e
1 g wl @ 2 wL @ = wh @ 3wl

. 36.

A two span continuous beam having equal spans each of length [ is subjected to
u.d.]l. of w per unit run over the whole beam. The beam has constant EI. The
bending moment at the middle support is

(1) wi?/a (2 wi%/s
(3) wi?/12 ‘ 4) wi?/16

37.

-

A beam fixed at one end and free at the other end is subjected to U.D.L. of intensity
‘w’ over the entire span ‘L’. Then the deflection at free end will be

(1) wL%/8 EI ' 2) wL%/3 EI
(3) wL2/8 EI ' (4) wL*/3 EI
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45. The distance between rivet centers measured along transverse to the dlrectlon of
force is :
(1) Gauge (2) Pitch
(3) End distance (4) Maximum pitch
46. Determine the rivet value of 20 mm diameter rivets connectlng 12 mm thick plate
if it is in single shear. Gross area of rivet is 363:05 mm? , permissible stresses in
shear and bearing are 80 MPa and 250 MPa respectively.
(1) 645 kN (2) 645 kN
(3) 29-044 kN , : (4) 290-44 kN
47. The effective length of fillet weld of length 200 mm and size 12 mm is
(1) 188 mm (2) 176 mm (3) 388 mm ‘ (4) 200 mm
48. The type of weld used for joining two surfaces approx1mately at right angles to each
other is known as 3 :
(1) Butt weld el U groove weld
(3) V groove weld (4) Fillet weld
49. The net effective cross-sectioned area of a single angle section connected by one leg
to the gusset plate is :
3A, BAL o5 S 54,
(1) A +A i 5-A, + A L 3A -A o A
SA EAg e o TR 54 -4y
50. The effective length of compression steel column of length ‘L.’ which is effectively held
in position at both ends but not restrained against rotation is
(1) 065L (2) 08L 3) L. . (4 15L
51.

The axial force in each lacing in double lacing system is

Vv - V-
1 2
@) 4nsin 6 : @ 2n sin O
v : . PA
3 : 4 :
@) nsin 0 : ) n sin 6
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59. The moment of resistance offered by balanced section in W.S.M. is given by
(As per IS 456 — 2000)
1 2 1 2
(1) E-Ucbc-b.x (2) E.Ucbc.b.d y
SRt DU R e e T
() E'Gcbc' . .(—" ) () E'G_cbc' -X‘.( = )
60. The compressive strength requirements of 53 grade O.P.C. cement as per
IS 12269 — 1989 @ 3, 7 and 28 days in N/mm? are
(1) 33,43,53 (2) 27,37, 53 (3) 33, 47, 53 (4) 27, 45, 53
61. Ina i‘ectangular beam of section b x d, subjected to ultimate torsional moment Tu,
equivalent ultimate shear can be given as ;
Tu . Tu
1) Vu+16.— 2) Vu+16.—
( ) u + b (2) u + bl
i : Tu
3) Vu+2. — 4) Vu+ —
() Vu+ T (.) Wi
62. Area of footing of an axially loaded column subjected to working load of 1000 kKN
and safe bearing capacity of soil 250 kN/mz, is
(1) 40 m? (2) 44 m? 3 60m?2 . (4 55m>
63. Minimum depth of foundation ié calculated ﬁsing Rankine’s formula in which- o is

the angle of repose, q, is the safe bearing capacity and y is the unit weight of soil.
The value is '

dy 1+s;i.n¢2 9 1—'cos¢2
T ] (2) —|———
Y (1 - sin¢ Y \1+ coso
dp (1 - sino) e S 1+ coso)
(8) —|— i g [
Yy |1+ sin¢ Yy \1 - cos¢
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77.. As per IS 1343 — 1980, loss of prestress in steel due to shrinkage in concrete in a

' pre-tension beam is yAPE, =2 x 10° MPa.

(1) 60 MPa (2) 200 MPa

(3) 20 MPa (4) 002 f, MPa

78. The net resultant stresses at bottom fiber of a section are zero means the resultant
thrust must be passing from
(1) extreme top fiber (2) mneutral axis
(3) upper kern point (4) lower kern point

79. In a post-tensioned prestressed concrete beam, jacking force is applied from one end
only. The loss of stresses in steel due to friction between steel and surrounding
material will be maximum at '
(1) Jacking end
(2) Mid span
(8) Anchored end ] :
(4) Loss of stresses in steel due to friction is uniform throughout the span

80. Minimum strength of concrete at transfer (fci)’ to avoid cracking of éxtreme fiber at
a prestressed concrete beam with reference to limit state of servicability, maximum
compression in flexure should be
® 07 Vi 2) 05 f,

0-24 ok @) £,

81. Vertical limits within which cable is to be provided in a post- tensioned prestressed
concrete element is called as
(1) Anchorage zone (2) End block
(3) Transmission length zone - (4) Safe cable zone

82,

Minimum grade of concrete to be used for pre- and post-tension prestressed concrete
construction are ,

(1) M30 and M40 respectively (2) M30 in both cases
(3) M40 in both cases - (4) M40 and M30 respectively
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The shortcoming of bar chart is
(1) lack of degree of details (2) activity inter-relationship
(3) does not show progress of work (4) All the above

88.

- Among the following, who is considered as the father of scientific management ?

(1) Max Weber (2) Henry Fayol
(3) F.W. Taylor (4) Elton Mayo

89.

Program Evaluation and Review Technique is used when
(1)  repetitive type of work exists
(2)'. time estimation is uncertain
(3) time estimation is very easy

(4) cost optimization is of prime importance

90-

Which of the following is the main contribution of scientific management ?

. (1) A rational approach to solve organisation problem

(2) Development of principles of management
(3) Correlation between improved working conditions and high production
(4) All of the above ;

91.

The sequence to be followed while developing the network diagram is

a. defining objectives :

b. sequencing the activities

c.. breaking down the structure

d. developing the relation between events :
(1) acbd (2 abecd 3) adecb 4) c a,b,d

- 92,

In what way does ABC analysis help the manager ?

(1) To purchase material at low price (2) To exercise seiective control

- (8) To purchase material very fast (4) To select good quality material

93.

The optimistic time, pessimistic time and most likely time required for completion of
activity is 4, 11 and 6 days respectively. The expected time is

(1) 5 days (2) 6 days

(3) 55 days (4) 65 days
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Pick out the correct word to fill in the blank :
Q. No. 201. I congratulate you your grand success.
(1) for (2) at (3) on (4) about

W AT TR 4(3) on” I IR, AHZ A IR IR 3)” Bt Aa

GICETHTT 7.5, 201@31363?1{% «®)> ¥ adw wil s F6 grafo
AT IR,

¥4 %. 201, (D) @ e » - :
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